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SKILLS LEVEL 4                               ENGLISH FAL 
REVISION 1   
 
NAME:  _________________________   SL. 4: ___ 
 
MUST BE HANDED IN ON 3 JUNE 2021 
 
Read the extract from a youth novel, then answer the questions set on it. 
Introduction 
 
The majority of people in South Africa can speak English – but we all sound different 
when we speak it.  This is because people choose different words (diction), have 
different accents, and use different kinds of grammar.  The other languages people 
know also affect the way they speak English.  There are many varieties of English in 
South Africa, and one is not better than the other.  However, you do need to know when 
to speak what kind of English.  We use formal and informal (colloquial) language. 
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4. 
 
 

1.  What was the whole school buzzing about on Monday morning? 
 
    ________________________________________________________________ (1) 
 
2.  What did people attempt to do for a Guinness World Record? 
      
    ________________________________________________________________ (1) 
 
 
3.  What was Jesse’s own personal victory?     
    
______________________________________________________________________ 
 
___________________________________________________________________ (1) 
 
4.  What type of language do we call words like:  bru, chick, saltheads, nailed? 
 
___________________________________________________________________ (1) 
 
5.  How many surfers came together at Muizenberg? 
 
______________________________________                                                           (1) 
 
6.  What followed Jesse as he walked in the corridor? 
 
___________________________________________________________________ (1) 
 
7.  What do you think does Jesse mean when he says, ‘Some schmuck jimmied the  
 
     lock the week before.’? 
 
______________________________________________________________________ 
 
___________________________________________________________________ (2) 
 
8.  What is meant by, ‘So, you two an item then?’ 
 
______________________________________________________________________ 
 
___________________________________________________________________ (2) 
 

 



 

 

 

 

5. 
 
9.  What was Jesse’s answer on this question? 
 
______________________________________________________________________ 
 
___________________________________________________________________ (2) 
 
10.  Why did Kani look past him instead of right to him?  Who was behind him? 
 
____________________________________                                                               (1) 
 
11.  What mind Jesse turn around?  Who was it from? 

 
______________________________________________________________________ 
 
___________________________________________________________________ (2)  

 
[15] 

Just for fun!!!! 
 
 

 
 
 

colour this heart as bright as 
possible!!!!!! 

STAY SAFE, AVOID CROWDED PLACES, WEAR 
YOUR MASK, SANITISE OR WASH YOUR HANDS 

REGULARLY. 





















 
 

Physical Science      Homework/ Revision 1                       

 

Name:                                                                                          SL. 4.  

 

Scalar: 

A scalar is a physical quantity existing in number only having no specific direction. 

Addition of scalars is done arithmetically: 2 + 2 = 4 

Example: 40c; 3 pebbles; 2 boys; etc. 

Vectors: 

A vector is a physical quantity having a specific magnitude as well as direction. 

Addition and subtraction of vectors are not done as in Mathematics: 2N West + 2N East = 0N 

Addition is done according to the rules of vector algebra: 

                     2N  +  2N         = 0N 

 

Write down if the following statements are true or false.   

1. A weight of 600 N is a scalar………………….. 

2. A bullet moves 400 m/s South – vector………………… 

3. A ray of lightning – vector ………………………. 

4. 60 Seconds – vector………………….. 

5. A magnetic field from North to South – scalar………………………..     

              

Add the following vectors.  

1. 10 N South + 25 N North + 2 N South …………………………………… 

2. 150 m/s North West + 50 m/s South East ……………………………… 

3. 40 N West + 120 N East + 10 N West……………………………………. 

4. 9,8 m/s2 0˚ + 3 m/s2 180˚………………………………….. 

5. 40 m/s North East + 65 m/s South West ………………………………. 

 

 



Find the direction in which an arrow would go if it is shot at 150 m/s in a direction North 35° West, 

while an Easterly wind of 25m/s is blowing. (An Easterly wind blows from East to West.) 

 

 

 

 

 

 

 

 

 

 

 

Find the direction in which a wooden block will tend to go if a force of 500N pulls it South while a 

second force of 300N pulls it North West. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 



 

Fisiese Wetenskap      Huiswerk / Hersiening 1                       

 

Naam:                                                                                          SL. 4.  

 

Skalaar: 

‘n Skalaar is ‘n fisiese grootte wat net in getal bestaan en geen besondere rigting het nie. 

Optelling geskied gewoonweg: 2 + 2 = 4 

Voorbeeld: 40c; 3 klippies; 2 seuns; ens. 

Vektore: 

‘n Vektor is ‘n fisiese grootte wat ‘n bepaalde grootte sowel as ‘n rigting besit. 

Optelling en aftrekking geskied nie soos in Wiskunde nie:  2N Wes + 2N Oos = 0N 

Optelling geskied volgens die reëls van vektoralgebra: 

                     2N  +  2N         = 0N 

 

Skryf neer of die volgende stellings waar of onwaar is. 

1. ‘n Gewig van 600 N is ‘n skalaar……………….. 

2. ‘n Koeël trek m/s Suid – vektor………………….. 

3. ‘n Weerligstraal – vektor…………………….. 

4. 60 Sekondes – vektor………………………… 

5. ‘n Magnetiese kragveld van Noord na Suid – skalaar. …………………..     

 

Tel die volgende vektore bymekaar:  

1. 10 N Suid + 25 N Noord + 2 N Suid……………………………… 

2. 150 m/s Noord Wes + 50 m/s Suid Oos ………………………………………… 

3. 40 N Wes + 120 N Oos + 10 N Wes…………………………………………….. 

4. 9,8 m/s2 0˚ + 3 m/s2 180˚……………………………………… 

5. 40 m/s Noord Oos  + 65 m/s Suid Wes……………………………… 

            



Vind die rigting wat ‘n pyl sal trek as dit geskiet word teen 150 m/s in ‘n rigting Noord 35° Wes, terwyl 

daar ‘n Oosterwind van 25m/s waai. (‘n Oosterwind waai van Oos na Wes) 

 

 

 

 

 

 

 

 

 

 

 

Vind die rigting wat ‘n houtblok sal neig om te beweeg as ‘n krag van 500N Suid trek terwyl ‘n tweede 

krag van 300N Noord-Wes trek. 

   
























